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  Guess Paper – 2008

Class – XI
Subject – Mathematics
Test (Straight Lines)
Q1 to 4    1 marks each.








MM:40

Q5 to 10  3  marks each

Q11 to 13 4 marks each

Q14 6 marks.

---------------------------------------------------------------------------------------------------------
1. The line trough the points (-2,6) & (4,8) is prependicular to the line through the points (8,12) & (x,24) find x.

2. Find the eq of line parallel to X –axis & pass trough (3,-4).

3. Determine x so that 2 is the  slope of the line through points (2,5) and (x,3).

4.    Prependicular distance from the origin is 5 and the angle made by the Prendicular          

         with the +X Axes is 300 . Find the equation of line.

5. Find the condition that the point (x,y) may lie on the line joining (3,4) & (-5,6).

6. The points A (h1,h2) and (h2,k2) and (x, y) are collinear Prove that 

                        (x-h1)(k2-k1)=(h2-h1) (y-k1)
                                                                   OR

         If the Points (h,0) ,(a,b), (0,k) Lie on a Line Show that

                                a   +   b      = 1   

                                h        k   

7.    The slope of a line is double of the slope of another line . If tangent of the angle between them is  1/3 . find the slope of the lines.

8.    Find the eq. of a line pass trough (2,2) & cut off a intercept on the axis whose sum is 9. 

                                                                      OR

        Find the equation of the lines which cut off intercept on the axes whose sum & products are 1 &      

        -6.
9. P(a.b) is the mid point of a line segment betweemn axes show that eq  of the line is x/a + y/b =2.
10. Show that two lines a1x+b1y+c1=0 & a2x+b2y+c2=0 are  i) Parellel if a1/b1=a2/b2 ii) perpendicular a1a2+b1b2=0 .
11. Find the condition of foot  perpendicular from (-1,3) to the line 3x-4y-16=0 

                                                    OR

      P is length from origin to the line whose intercept on the axes a, b the show that    

       1/p2=1/a2+1/b2

12. The line trough (4,3) & (-6,0) intersects the line 5x+y=0 find the angle of intersections.

                                                   OR

      A Line through (22/9 , 3) and (4,k) intersects the line 7x-9y-19=0 at right angles find the value of h.

13. Find the equation of the right bisector of the line segment joining the points (3,4) and (-1,2).

14. If the p & q are the lengths of perpendicular from the origin to the lines x Cosα  - y Sinα  = K Cos2 and x Secα +y Cosecα =k  respectively Prove that P2+4q2=k2 
By :Neeraj 
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